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Start by counting the longest continuous
chain of carbons this is the patentname
identify the location of the attached
group bygiving it the lowest possible address
To do so you can start at either end
of the structure right or left top bottom

Place number for the attached group
in front of that alkyl name

separate the number from the alkyl
name with a dash

a 8 7 6 5 U Dnz

Ige mane y misuse'nonane

list the attached alkyl's alphabetically
Precede each alkyl with it's numberlocation along the parent chain
separate each attached alkyl with
a dash

6 i 8
I

metrye ethyl
4 ethye 2 methyloctane

I



use thetatin preaxinaiiEEEFEEEY.EE iaEEna
nigh ngdiEEEE.EE'The FINE'Ekain
of each alkyl separated by a comma

j joy
34,6 trimetize

MIMAnd 9 page 221g

Wagram

Mr

r



How to draw a substituded alkane

1 begin by drawing out the parent name
2 position the attached groups

according to the name

3 Ensure that all atoms are
satisfied

Ex a 3 ethyl 3 methyl pentane
3
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b methyl 5 propyle octane
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